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L, (a) Find the area of a quadrant of the elhpse e + —= i = :_ e ¢
(b)Find the pedal equation for 7(1 — COSQ)"Z&. R
[o4] _(:()45_ 13
2. The density at any point (x,y) of a lamina is% (x +7y), where o and aare (7] “’“5_ L3
constants. The lamina is bounded by the lines x = 0,y = 0,x = a,y = b. find the -
position of its centre of gravity. : |
3. State and prove the relation between Beta and Gamma functions. Hence find the  [07] iO‘ L3
value of T G) i
4 [07] |( d'sé """" .
‘ =¥
Show that J' Jye ™ dy xfa \F dy = —\7|§ il

%




5. Derive an expression for the Angle between the radius vector and tangent.

6.  Find the Angle between the given two polar curves r = alogf and r = 2

logd '

7. Find the Centre and Circle of curvature for the curve xy = ¢? at (c, ¢) .

8. Find the Evolute of the parabola y? = 4ax .
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